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QUESTION 1

Which three services could be provided by an NSX Edge Service Gateway? (Choose three.)
A.NTP

B. AAA

C. SSL VPN-Plus

D.L2 VPN

E. Firewall

Correct Answer: CDE

QUESTION 2

What resource must a partner security service be registered with before the service is available to a security policy?
A. NSX Manager

B. ESXi host

C. Service Composer

D. vCenter Server

Correct Answer: A

QUESTION 3

A user has configured a specific distributed firewall rule preventing VM-A (172.16.10.11) on the Web-Logical Switch to
communicate to VM-B (172.16.20.11), running on the same switch. After the changes, the user is still able to
communicated to VM-A from VM-B.

To debug this anomaly, the user will need to obtain logs from which component?

A. The Distributed Logical Router

B. The Edge Services Gateway

C. The appropriate ESXi Hosts(s)

D. The appropriate NSX Controller(s)

Correct Answer: C

QUESTION 4
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What is the effect on NSX Edge virtual machines when NSX Edge high availability is configured but vSphere HA is NOT
configured?

A. The active-standby NSX Edge pair will survive one failure. However, the virtual machines must reside on the same
host to prevent NSX Edge availability from being compromised.

B. The active-standby NSX Edge HA pair will survive multiple failures.

C. The active-standby NSX Edge HA pair will survive one failure. However, if another failure happens before the second
Edge appliance is restored, NSX Edge availability can be compromised.

D. The active-standby NSX Edge HA pair will survive two failures. However, the virtual machines must reside on two
different hosts.

Correct Answer: C

QUESTION 5

Internet access is required from virtual machines located on any logical switch. Direct access from the internet to these
virtual machines is NOT permitted.
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Which Perimeter NSX Edge feature would achieve this with the least configuration?

A.LB

B. DNAT
C. SNAT
D. VPN

Correct Answer: B
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